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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PP S fra

(a) Define fertility rate.
TRl 2 i i |

(p) What is microfinance?
e I 7
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(2)

Mention one impact of land-tenure
system.

SR-HY KL 9ol Zrd SEe 791 |

Point out one common deficiency
involving in governance.

= gEEre Gl @B iR &% Sae
41 |

What is rural-urban migration?

S-SR 2 I & e 2

Point out one social challenge arising
from globalisation in India.

Ses [MER Fae Ted @d 9B TS
orerz ECEd 41 |

In which year was the Rio Summit held?
e’ Al @ e Sefe Cafew 2

(3)

(i) Mention one contribution of agriculture
to the process of economic development.

Steies Tmm eifdFrre oRT b s e
41

()  Write one cause of gender inequality in

a family.
951~/ oqe foigsl taa @bt e B |
2. Answer the following questions : 2x5=10
T ePTRS e T

(a) Define globalisation.
P ikt foam

(b) What is the relationship between the

age structure of a population and its
dependency ratio?

SR T N A FréaTerer wmpetres
TTErS AT Forhel 3 2

(c) What are the types of environmental

Define individual behaviour 0 Sheul externalities?
environment. AR T 2RI 3 B9
ST AfReTS T wvae sew fay |
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(@)

(e)

3. Answer any four
questions :

(4)

Why is sustainability of repewable
Te€sources important?

Bt AT R ey 2

What is landlord-tenant relationship?
-1 W e oty 2

from  the following

5x4=20

Wﬁﬂ’g@ﬁmmﬁﬁﬁwm

(@)

(b)

(c)
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Explain the role ¢
€conomic developmen

ST SrTe e

f agriculture in
t.

Explain the
COMmunity gqye
S0vernance,

Eiiﬁrﬂqu

rnan between
¢ and Corporate
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(d) Briefly discuss the major eras of
globalisation in the last 150 years.

@RI Seo IIC AR 2 JECHRBT DIT
STl 4 |

(e) Explain the factors which influence
individual behaviour in an organisation.

Heare B AHITF ASTRS T FRPGR 361
gl

() What is Yertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

“Sdqel B 7 EIRRETETE TR O
Share SLq] FIF QIRACH! I 41 |

Answer the following questions :
e e U il :

(a) Discuss the functioning of labour

10x4=40

market in agrarian society. 10
TREN TS AN TERT IR e
4 |
Or / 7291

Explain the demographic transition
during the process of development. 10
S AR THERTS PRI FOEE
e ea 41 |
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(b)

(c)

A23/680

(6)

Examine Hirschman’s exit, voice,
loyality theory as a response to
organisational inefficiency. 10
RIOGER oM, o W e e
IAReIOfT T aifefem BT @ <5 |

Or / g1

Discuss the impact of globalisation on
developing countries in terms of :
international finance. 10

m@@ﬁiﬁﬁ@wﬁm%ﬂﬁﬁamﬁwﬁ
AT SO F47 |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10

P IS @GS ? IR0 G e 3'q0e way
T4 SARACIIR A=A 4 |

Ori T

Critically discuss the various land
reform measures adopted in many
developing countries. 10

%Wﬂamﬂ%@@mﬁ%ﬂgﬁwgﬁ
TREPTIZ A TR AT 3597 |
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i)

In what way common property resource
theory provides a useful framework

for analysing environmental issues?

10
Explain.
s e W ogod  SfReTTe
STER Rerd $ae e 96l AT
el 2 FE, I P
Or / «gdl
Write short notes on : 5+5=10
o Coret fora
(i) Nutrition and labour productivity
offt < 2T SeAmHETS!
(ii) Economic activity and climate
change
el SR I e AARae
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